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QUESTION 1

minimize the amount of development effort required. What should you add to usp_SelectEmployeesByName? 

A. An OFFSET-FETCH clause 

B. A recursive common table expression 

C. A table variable 

D. The ROWNUMBER keyword 

Correct Answer: A 

References: http://www.mssqltips.com/sqlservertip/2696/comparing-performance-for-different-sql-server-
pagingmethods/ http://msdn.microsoft.com/en-us/library/ms188385.aspx http://msdn.microsoft.com/en-
us/library/ms180152.aspx http://msdn.microsoft.com/en-us/library/ms186243.aspx http://msdn.microsoft.com/en-
us/library/ms186734.aspx http://www.sqlserver-training.com/how-to-use-offset-fetch-option-in-sql-serverorder-by-
clause/http://www.sqlservercentral.com/blogs/juggling_with_sql/2011/11/30/using-offset-and-fetch/ 

 

QUESTION 2

You need to recommend a solution to improve the performance of usp_UpdateInventory. The solution must minimize
the amount of development effort. What should you include in the recommendation? 

A. a table variable 

B. a subquery 

C. a common table expression 

D. a cursor 

Correct Answer: C 

 

 

QUESTION 3

You have a table named ORDERS that contains 10,514,003 Orders. The ORDERS table has an IDENTITY (1,1)
column named ORDERID. ORDERID is the UNIQUE CLUSTERED INDEX and PRIMARY KEY for the table. The first 

ORDERID is 1. There are no missing ORDERIDs in the set. 

Based on table usage patterns, you decide to use partitioning on this table based off of the ORDERID column. 

You need to create the following partitions: 
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Which code should you use to create the partition function? 

A. B. C. D. 

Correct Answer: A 

Ref: http://msdn.microsoft.com/en-us/library/ms187802.aspx 

 

QUESTION 4

You plan to install two SQL Server 2012 environments named Environmentl and Environment2. Your company identifies
the following availability requirements for each environment: 

Environment1 must have mirroring with automatic failover implemented. 

Environment2 must have AlwaysOn with automatic failover implemented. You need to identify the minimum number of
SQL Server 2012 servers that must be deployed to each environment to ensure that all data remains available if a
physical server fails. How many servers should you identify? To answer, drag the appropriate number to the correct
environment in the answer area. 

Select and Place: 
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Correct Answer: 
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http://msdn.microsoft.com/en-us/library/ms189852.aspx http://msdn.microsoft.com/en-us/library/hh510230.aspx 

 

QUESTION 5

You need to implement changes to the system to reduce contention and improve performance of the SalesOrderDetail
table. 

Which three actions should you perform? Each correct answer presents part of the solution. Choose three. 

A. Use (SNAPSHOT] hints in the report queries 

B. ALTER DATABASE [ProdDB] SET READ_COMMITTED_SNAPSHOT ON 

C. ALTER DATABASE [ProdDB] SET READ_COMMITTED_SNAPSHOT OFF 

D. SET TRANSACTION ISOLATION LEVEL SNAPSHOT 

E. Use (TABLOCK) hints in the report queries 

F. SET TRANSACTION ISOLATION LEVEL SERIALIZABLE 

G. ALTER DATABASE [ProdDB] SET ALLOW.SNAPSHOT ISOLATION ON 

H. Use (SNAPSHOT] hints in the update statements 

Correct Answer: ABF 
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*

 Scenario: 

The SalesOrderDetail table holds the details about each sale. It is in the Sales schema owned by the SalesStaff
Windows group. 

This table is constantly being updated, inserted into, and read. 

*

 Regardless of which office runs a sales force report, the SalesOrderDetail table should only return valid, committed
order data; any orders not yet committed should be ignored. 

*

 READ_COMMITTED_SNAPSHOT { ON | OFF } 

ON 

Enables Read-Committed Snapshot option at the database level. When it is enabled, DML statements start generating
row versions even when no transaction uses Snapshot Isolation. Once this option is enabled, the transactions
specifying 

the read committed isolation level use row versioning instead of locking. When a transaction runs at the read committed
isolation level, all statements see a snapshot of data as it exists at the start of the statement. 

OFF 

Turns off Read-Committed Snapshot option at the database level. Transactions specifying the READ 

COMMITTED isolation level use locking. 

ALTER DATABASE SET Options 
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